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SET-1
Series BVM/2 o Nz. 64/2/1
qd .
qiereff wie gfeqsht & q@-

Candidates must write the Code on the
title page of the answer-book.

o THUAT I R W foh 38 Y97 H Hlgd I8 12 § 9T 2 I8 HHIH % 7 |

o TH-TA H M T A AR U MU FHe T H BH IW-Yfedd &k JEIE W
forg |

o HIA T B W foh 3 TA-TAH 22 T F |

o FHUAT T HT IW 1@ I[E HI | UgeA, T T ThHTeh 794 o |

o IH YH-UA HI UG oh [T 15 e 1 T9F fon T 8 | WHA-UH 1 T qahg
T 10.15 & foham ST | 10.15 &1 & 10.30 S Ak DT shad I¥H-US h Ugn
3R 3G A9 o SRA o IT-YFEdeh! T hIg I T8 fore |

e Please check that this question paper contains 12 printed pages and
2 pages of maps.

e Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

e Please check that this question paper contains 22 questions.

e Please write down the Serial Number of the question before
attempting it.

e 15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the
students will read the question paper only and will not write any answer on
the answer-book during this period.

e (Hgr=ie)
GEOGRAPHY (Theory)
AeriRa ager : 3 o2 3EIHTH 37 : 70

Time allowed : 3 hours Maximum Marks : 70
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QT 3397 :

(@)
(i)
(iii)
(iv)
(v)

(vi)

(vii)

(viii)

3G Fv7-77 4 FT 22 F9T & |

Tyt go7 ST & |

o7 FEI 1 @ 7 37 TY-IF0T T & | Fb JoT 1 37 FT & | IAH To7 H
IR 40 T3 & 371e 787 &7 FET |

o7 G&qT 8 & 13 TY-IF0T J97 & | I J97 3 3 F & | FAF JoT BT
I 80 - 100 g @ 37feres 787 &7 =iey |

97 &I 14 & 20 FH-30707 397 & | 9% F97 5 37H 7 & | Io9H 97 BT
IR 150 Feg! & 37fere 757 &7 =1 |

o7 T&IT 21 HITifcid TN Hl GEEE a7 3% A for@d & garad 8, I9
q&IT 22 i Temn @1 15T # 39y 8l @ gvid @ gefad 2 | 39
Y75 3eh BT E |

T9H! 13T T fava TuT ARa & @T-grtadl # FTR-JIEddT & G IaeT
# /

3GT-TrfE] & @i & o7q Rifer 1 2Taeied & I791T 1 3FHIT & T
g/

General Instructions :

(i)
(i1)
(iii)
(iv)
(v)
(vi)
(vii)

(viii)

There are 22 questions in all.
All questions are compulsory.

Question numbers 1 to 7 are very short-answer questions carrying 1 mark
each. Answer to each of these questions should not exceed 40 words.

Question numbers 8 to 13 are short-answer questions carrying 3 marks
each. Answer to each of these questions should not exceed 80 — 100 words.

Question numbers 14 to 20 are long-answer questions carrying 5§ marks
each. Answer to each of these questions should not exceed 150 words.

Question numbers 21 and 22 are related to identification or locating and
labelling of geographical features on maps, carrying 5§ marks each.

Outline maps of the World and India provided to you must be attached
within your answer-book.

Use of templates or stencils for drawing outline maps is allowed.
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SECTION A

1. A9 % 3k i # for argura for & fore ergeet i 8 2 18 U Hror Tyse
T | 1

Why is sex ratio favourable to women in many European countries ?
Explain any one reason.

2. TEYE-3A-gh g U hHi T3, AHG Tk’ shi Aagmun i @ it | 1
Examine the concept of ‘human development’ as introduced by
Mahbub-ul-Haq.

3. dgr ¥ yriu afcEl % Waw uloed’ K fodl @ fomivast w1 sgw@
5|§||3IQI i+£=1
ST 2 2

TR ° g SfeqEl % ‘STEareer gfaww’ i feedl @ famivarstt @ 3g@
Wl i+£=1

2 2
Mention any two characteristics of linear pattern’ of rural settlements in
the world.
OR
Mention any two characteristics of ‘rectangular pattern’ of rural
settlements in the world.

4.  ‘Taferem wiea’ = e fafeau | 1
Write the meaning of ‘medical tourism’.

5.  SIGTG I HHE I o (TI.E1.371E.) U gad = Tom &= 8 2 1
Why has Chhattisgarh recorded the lowest level in the Human
Development Index (H.D.I.) ?

6. WA ¥ A hl UG % B o foheal g1 HRUIN T 3@ HIFT | é+£=

2
AT
R | 9 & Gt <l foredt < faften 1 sg@ ifs | é+£=
2
Mention any two reasons for the deterioration of water quality in India.
OR

Mention any two methods for the conservation of water in India.
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7. 91y UGV, HE Ty i [hH YRR THTIIG Hidl 2 ? 1
AT
e+ YGUUT, A TaTeed i fohd JehR YT el & ? 1

How does air pollution affect human health ?
OR
How does noise pollution affect human health ?

RCLERC)
SECTION B

8. ‘“Ama wEEAi % fau yowEd: yehfd W AW €, S 3= Sfifod s wEdt 7 17
39 HYT 6 W@ FHINT | 3
JrqaT

“Sepfar 1 T SRR Wi fosRfad i W T Afd w2 17 39 wed i
@ T | 3

“Human beings are directly dependent on nature for resources which
sustain them.” Examine the statement.

OR

“The knowledge about nature is extremely important to develop
technology.” Examine the statement.

9. 7 T8 dIfetert 1 31 hife 3R 3Ees 9 feu o yvi o I faflgu @ 147+47=3
199 : ST SR 917 (.09, 59 @Rg el H)

BRG] T
Sl ST HIA | hed SATUTIeh HIA

1955 95,000 99,000
1965 1,90,000 1,99,000
1975 8,77,000 9,12,000
1985 19,54,000 20,15,000
1995 51,62,000 52,92,000
2005 1,03,93,000 1,07,53,000
2015 1,55,83,232 1,56,28,204

(9.1) SR H HH-AT &9 (I8) e ghg I a1 8 ?
(9.2) =1 FHA AR % Iiwmor # gig g8 a1 FHH1 53 ?
(9.3) TG FT TRl ST @ ? IS &1 SRV fATET |
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Study the following table and answer the questions that follow :

World : Imports and Exports (in millions of U.S. $)

Exports Imports
Total Merchandise | Total Merchandise

1955 95,000 99,000
1965 1,90,000 1,99,000
1975 8,77,000 9,12,000
1985 19,54,000 20,15,000
1995 51,62,000 52,92,000
2005 1,03,93,000 1,07,53,000
2015 1,55,83,232 1,56,28,204

(9.1) Which aspect of trade has shown rapid growth ?

(9.2) Has the total volume of trade increased or decreased ?
(9.3) Why does import take place ? Write any two reasons.

iz :  [rlcikaa o7 Fac giearaa gagniaal & 79, 397 G819 & 9 W
Note: The following question is for the Visually Impaired Candidates only,
in lieu of Q. No. 9 :

STRISE SR oh IH AgwqUl IgQ31 <hl SATEAT hHiT |

Explain three important aspects of international trade.

Ix3=3

10.  “1901 & 1921 3l 7y FI WRA hH1 TG Jhg FI &g a1 R Jaeen &
®9 § ST SITAT 2 |7 36 SHeH i JHIE I |
“The period from 1901 to 1921 is referred to as a stagnant phase of
India’s population growth.” Substantiate the statement.

11. Yo® % %R0 U9 gehfdal & A & A" H§ Fen-ged 8 fee TR

HhWIcHeh oo Tohe BId & ? SATEAT FHIT |
How does intermixing of people from diverse cultures due to migration
have positive values ? Explain.

12. TS A o SR WA § HEAhTE T oh foeh™ i 9uH HIfRT |
arera
forfest wImem % ERH, WRA & 3MYfeh TR < fashm™ w1 9ui HIVT |

Describe the development of medieval towns in India during the Mughal

period.

OR

Describe the development of modern towns in India during the British

period.

P.T.O.
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Study the given map carefully and answer the questions that follow :
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(13.1) Mention the source of origin of this canal.
(13.2) Why is the area to the east of the canal under lift irrigation ?

(13.3) Explain the economic significance of this canal for the command

area.



] 5 (]
Fie : el J99 I gieEanad ghemteE & 77, Jv7 T8I 13 % €I W8

Note: The following question is for the Visually Impaired Candidates only,
in lieu of Q. No. 13 :

“gfer et 8T < g T89S % THR § T8 HATS & il HY sraEd Ty
9§ EYING &1 T8 & |7 39 HIA H T HIT | 1x3=3

“Introduction of irrigation through Indira Gandhi Canal has brought
about a visible change in the agricultural economy of the canal command
area.” Explain the statement.

wus
SECTION C
14. YUR § SHEEA & fo@e0 Sl TIGa i el 3TTeeh 37 HEehidsh hRel
ST HIY | 3+2=5

Explain the economic and cultural factors that influence the distribution
of population in the world.

15. HOR ¥ FqUivisdeh IE ITeH fohdl TR Uah fafsrse wfafafe 59 7 8 2 Sargon
Tfgd Tse IR | Ix5=5

Explain with examples how commercial livestock rearing has become a
specialised activity in the world.

16. TER T B THMH & 3G IR ‘¥ I & ST H = T Hify | Ix5=5
AYAT
TR H HiV-M9Tia e 3R GHS-3TaTG ST H 3T $95¢ hIT | Ix5=5

Differentiate between ‘small scale manufacturing’ and ‘large scale
manufacturing’ in the world.

OR

Differentiate between agro-based industries and mineral-based
industries in the world.

17. ‘“UR-HEEiET @Rt o #E S 9ui shifSe | 5
YT
“UR-hfed Tmt’ & Hgw 1 9ui ki | 5
Describe the significance of “Trans-Siberian Railway’.
OR

Describe the significance of ‘“Trans-Canadian Railway’.
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18. URd H ‘Y F WA 4 FHiY o Icd1ed H fh8 THR Tgwqul gig hi
2 ? 3 Afed Te HIFT | 1x5=5

Explain with examples how ‘modern agricultural technology’ has brought

a significant increase in agricultural output in India.

19. “9Nd § HI1 % AWWA Ed AGH [Tohe 3R TG0 TR oAl I9Aed]

HAU |7 39 hI hHl |G HIFVU | 5
SreraT

“UUra & T & T @it GETeEl 1 S0 KT STcaETEs & |7 39 %Y

&1 W@ iU | 5

“The non-conventional sources of energy in India will provide more
sustained and environment friendly energy.” Examine the statement.

OR
“Conservation of mineral resources is essential for the development of
India.” Examine the statement.

20. “Yrd¥ W-IT GUR & Gt A I STl § 8 Tk @ 31 38 e+
aifefes forepra § wEwaqul ATeE feo 7 17 59 e i gfee Fifvw | 3+2=5

“Indian railways network is one of the longest networks of the world and

has contributed a lot to the growth of the economy.” Support the

statement.

21. ¥ER % fqu T ToHifos W@amteE (98 13 W), § 9i9 AWimicis deon i
A,B,C,D 3 E ¥ fe@gmn m g | 3! yguH Fefaiad SHepi) i 7ee §

FHIfTT 3T 3ok T A 3T I Tt 715 W@l | ffew Ix5=5
A, TIAITE IR H S

B. 3 wem

C. 3I=AUSY gaTs U

D. #m &

E. URAgmHE @Wr % B % wwH
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On the given political outline map of the World (on page 13), five
geographical features have been marked as A, B, C, D and E. Identify
them with the help of the following information and write their correct

names on the lines drawn near them :
A. An area of nomadic herding

An industrial region

An international airport

A mega city

"o a W

The terminal station of “Trans-Continental Railway’

g :  HElcmEd 3vT @9 gieanaa whenidar & g, v aear 21 & T
WE

Note: The following questions are for the Visually Impaired Candidates
only, in lieu of Q. No. 21 :

(21.1) 3ThTehT B fohelt Ueh Tctamelt IIERYT &3 i 3g@ hIT |

(21.2) 09 & Torelt wen SirEifires e &1 9 fafEw |

(21.3) GIH U IR & Topell T STl gaTs U o1 4 fotfw |

(21.4) A & foreft T T &Y o1 9w fafew |

(21.5) UR-GTESREA teWnl o foreft T R % TevM &1 W fafem | 1x5=5

(21.1) Mention any one area of nomadic herding in Africa.
(21.2) Name any one industrial region of Europe.

(21.3) Name any one international airport of the United States of
America.

(21.4) Name any one mega city of Brazil.

(21.5) Name any one terminal station of Trans-Siberian Railway.
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22. WRA % U U TSI W@-AERE (I8 15 W), § Fefafed 9 9 fast g
Miferes @eTun 1 fo@mgy oK 3 AW fafau Ix5=5

(22.1) ™ S 1 10 icRA @ s e ara et
(22.2) HUTE I U IcTGh TS

(22.3) USE H HIGAIR TS TTeh

(22.4) glaoT (Wed) T AvSH S &I

(22.5) WEh H AU gATG ITH

(22.6) TSI § Y@ g IO

(22.7) @de! H qleT @H

(22.8) TR % FEE HA T ATAT T

Locate and label any five of the following geographical features on the
given political outline map of India (on page 15) :

(22.1) The city with more than 10 million population in West Bengal
(22.2) The leading producer State of cotton

(22.3) The software technology park in Punjab

(22.4) The Headquarter of Southern Railway Zone

(22.5) The international airport in Karnataka

(22.6) The major seaport in Gujarat

(22.7) Khetri copper mines

(22.8) The State with lowest level of urbanisation

641211 11 PTO.
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g :  HAelciEa 397 dac glEEad ghentdel & 070, 397 G&9r 22 @ T W
& | &IF i 397 57 FHE |

Note: The following questions are for the Visually Impaired Candidates
only, in lieu of Q. No. 22. Attempt any five questions.

(22.1) Ufvem s ° feuq 10 fafer 9 stfves S99 o 38t 61 9m
ffau |

(22.2) HRA ® -9 TST HUH H1 YU Ik 2 ?

(22.3) UE H fE¥d GiFea=R TaIcAiS UTeh o1 9 fIfau |

(22.4) Tfequr (UeH) & HUSH T GEATTH DHH-TT1 8 ?

(22.5) hlesh U feda r=auisdi gamg U= o1 I fofau |

(22.6) TRIG § food Y@ g 9 1 AW fAfEn |

(22.7) @A I diar @H WRa & fopm s H fedra § 2

(22.8) WA % TR & T HY TR ITel T &1 41 fAfgn | Ix5=5

(22.1) Name the city located in West Bengal having more than 10
million population.

(22.2)  Which is the leading producer State of cotton in India ?

(22.3) Name the software technology park located in Punjab.

(22.4) Which is the Headquarter of Southern Railway Zone ?

(22.5) Name the international airport located in Karnataka.

(22.6) Name the major seaport located in Gujarat.

(22.7) In which State of India are Khetri copper mines located ?

(22.8) Name the State of India having the lowest level of urbanization.
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I F. 22 % forw For question no. 22
WA hT F@T-UH e (T iferes)
Outline Map of India (Political)
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